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QUESTION 1

Which is NOT a valid service provided by Oracle Enterprise Scheduler Service (ESS)?

A. running Java, PL/SQL, and binary script jobs

B. invoking jobs on external On-Prem and SaasS application as scheduled on the Oracle Enterprise Scheduler

C. configurable to allow or restrict running multiple job requests associated with a single job definition concurrently
D. distributing job-request processing across a grid of application servers

E. invoking jobs on external On-Prem and SaaS application as scheduled on those Schedulers

Correct Answer: B

QUESTION 2

Oracle Application Adapters in Service-Oriented Architecture Cloud Service (SOA CS) can connect to on-Premise
systems.

What are 2 key elements that you need to review in this architecture?

A. Account for network connectivity and latency sensitivity to the on-premise application in the architecture.

B. Ensure that Oracle Support Notes for a hybrid cloud architecture with that application are reviewed and supported.
C. Design a load balancer solution for connectivity.

D. The DMZ needs to open port 80 for proper connectivity.

Correct Answer: AC

QUESTION 3

Which setting is used for a system that is hosting a web application to be allowed to access Oracle Internet of Things
(IoT) Cloud Service resources?

A. Cross-Origin Resource Sharing (CORS)

B. Management Console Timeout Interval

C. Message Storage and Command Notification
D. OAuth Access Token Lifetime

Correct Answer: A

Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/troubleshooting-rest-api-issues.html
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QUESTION 4

Which expression can you use to schedule integration runs?
A. a XPATH

B. aniCal

C. a JavaScript

D.a XSLT

Correct Answer: B

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/creating-
scheduledintegrations.html#GUID-622B74FE-D9EC-4A62-8DF1-1E96912C8FB8

QUESTION 5

Which two are types of Authentication that are supported for Services in Integration API Platform Cloud Service?
A. Kerberos

B. WSS Username Token

C. OAuth2

D. BasicAuth

Correct Answer: CD

Reference: https://cloud.oracle.com/opc/paas/datasheets/APIPCSDataSheet_Jan2018.pdf
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